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The Problem
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Operations Want To Be Agile



SKIPJAY

Operations Want To Be Lean
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Applying Machine Learning



Making Savings SKIPJAS

£l Optimisation Results
Compare tested performance for available instances. Click on the instance to show test details.
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A conservative example

» 18 JVM Parameters
» Heap size; Garbage collector options; etc
» 5 Servlet Container Parameters
» Acceptor Threads; etc
» 5 Operating System Parameters
> Queue sizes; Swap space; Scheduler settings

» Assume each option has 10 settings
» Most actually have a lot more but a few have less.

1028 possible configurations spread over 28 dimensions
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Test Results
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"No Silver Bullet"
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Counterintuitive Results
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Infrastructure For Testing
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